By B FEMERI PP Tt .. e 1
1 L= 3B T3 ) B oot e 1
L2 = R B BT e ettt 3
1.3—FEHRITBEES P2P BHZRAUSBROIRR - oo 7
1.4—Bourdieu 3ZIH IR RAERRZE ..o 10
o = s PR 13

B E PP BRI I R et 16
2.1—P2P #REEHUEE  PIMEEREDMMEZREENER oo, 16
2.2—P2P ERESEVEIE : WMIBEREIREE 7 v 23
2.3— ¥ P2P 3ZIT3R AIB0IEIR : R ERIERTIa0EEE, ... 34

B E  {FAEREREEI AR S T oo 42
Bl B A PP B R IR e e en e et 42
3.2 ~ XIBAEHY P2P (BB ERBIBE A - e e 50
3.3 REG) B « BB A REBVEEE o e, 58
3.4~ BNEZEIOVERDE 5 SHIBE LAVEEIR - oo 64
CHCRI1S -, - o) R R 71

FEPUE - f5im ¢ P2P S E A EEERIESEAIRIE oo 73
4.1~ P2P O B BRG] - e e e et e e e e e e 73
A2 N T E AT PP SR E oo 75
R - ~ TR 77

B B R e 79
MEEFIHFRA (ZEMAVMEREE) 90
RENBEFRRA (TS ERMETRHE) 93



